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Pedrotti OPTICS: Problem 14-6

Write the equations for the electric fields of the following waves in exponential form:

(a) A linearly polarized wave traveling in the x-direction. The E-vector makes an angle of 30° relative to the y-axis.
14-6(a)
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(橫軸為Y 縱軸為Z )

(b) A right-elliptically polarized wave traveling in the y-direction. The major axis of the ellipse is in the z-direction and is twice the minor axis.

14-6(b)
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(橫軸為Z 縱軸為X )

(c) A linearly polarized wave traveling in the x, y-plane in a direction making an angle of 45° relative to the x-axis. The direction of polarization is the z-direction.
14-6(c)
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(圖中直線表示傳撥方向 橫軸為X 縱軸為Y) 
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